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‘- Co,é,oer wire reacts with silver nitratc 4o Proeduce Silver g

lopper IT Aitrate. ;
G.) How mang- G of silver wiill be Proo'uced ['I”Om 0'7.5”7?_01D Copp?lf:

W ) Now many. moles of ﬁopper_E Mitrate will pe procdfoced

o). Lron reacts with Copper I Suifate +o produce Copper and. Lron IT
50/{0.‘/’6

&) How maniy moles of Copper w. il be prodveed [ F . Hg o
Lron recc#
b.) How anmaL 9F&m3 of Copper w. 1l be procduceq

\?, SOd,'Um and_ Ch/or/nc [E€GCA +o 7[33Fm Sodion CA/OF:'de
Q) How many moles of sod.vm ¢hior;
one mole of Sodrum.

0) How many  moles of Sod.um chioride ¢ouid be /Df‘odUC‘/Cd
using. 4.5 8r‘om3 of Soctivm.

4, I'Ne+hane ((’/—l;./) 1S burned
and. water

de coo/d be progucec| os/n?_

N i 4o produce Carbon O,ox/dc

Q) Fow many- Molres ot woater Could be produceq Lo, S
mole of methane.

b ) How mang mMoses of poater Could pe pLroduced Lrom o,
of m e+hané. ?_

2. Lron burns /N @i 4o pdeuC’cf QSOL{
Q,) How ma_na/_ moles oF oxy?en are needed 4o react oo+ A
one mole of Lron. .

b) How man gramo of ox YQ€N would +th.o be.
¢) Can a prece of ZLron we’{gh,ng 5. to

+o Fegz0+4 in a Vessel contain, F
G. Carbon (Craphite)is boﬂned N Air 4o proeduce carbon dioxide.
Q)I’p one mole of Carbon 1S b()/‘/’)(/‘dl/-)ow ma/’)(./ nolées O‘JD

Car bon Dioxide tohat mass 5 ?pamg are produced.

) Tf 5 moles of carbaonare borpect ;n 010 meores of axy Ger) -
lohat 15 +e maxiom pom ber cd moles of aarbor dioxide
+hat can be produced.

Durn corm plese [



http:jJroduc.ed

